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NS 2E¥ 22 2(R0) 3 T bl 1 1 3 NS #%# s#isdc(FC)
EW 244 RIHE(FC0) a e EW rmugg 253 (R0)
B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
i tyze% | NS | EW | 2yzu% | NS | EW | #3 [ #13 | #3 [#13] #3 [#13 || Mean | Ns EW
1 N |None P 3DE3 110 110 3 EW70 2 1
2 E NS 3HW3 140 3HW-1 50 190 5 EW40 -3 -3
3 S | EW 2SS2 110 2SS2 110 EW40 4 -4
4 W | Both 5CS5 600 5DS5 600 NS600
5 N NS 4HE4 420 4HE4 420 EWA420
6 E EW 3HW-1 100 4HW-1 100 EW30 4 -4
7 S |Both 6SS7 1460 6SS7 1460 NS1640 -5 5
8 W |None 3CN-1 50 3NS-3 150 100 3 EW30 -1 3
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 2SN4 170 4SXN4 790 620 12 NS370 -5 -9
@3 IMP| 6 |17 3 | 12
S I ST |
B 3 i REORE SR 13 =
* B IMP 6 17
&3 INP 6 17 1
- $-VP 6.28 13.72
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B# | DL | & Yk M3 ES R A~ COP Datum
1
i tHz2% | NS | EW | 2x%3223% | NS | EW | #2 | #14 | #2 [#14| #2 [#14|] Mean | Ns EW
1 N |None 2DXE3 280 3HN-3 150 130 4 EW70 -5 2
2 E NS 4HW-2 100 5HW-2 100 EW40 4 -4
3 S | EW 3SS3 140 4SS-1 50 190 5 EW40 5
4 W |Both 3NN5 660 3NN5 660 NS600 2 -2
5 N NS 4HE5 450 3NE4 430 20 1 EWA420 -1
6 E | EW 4HE-3 300 4HW-2 200 100 3 EW30 8 -6
7 S |Both 6SS7 1460 6SS7 1460 NS1640 -5 5
8 W |None| 3NS-2 100 3NS-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 3DE3 110 3DS-4 400 290 7 NS370 -10 13
A3+ IMP|15 | 5 -3
2 2 B P 14 rl ;ﬁg Wi
* B IMP 15 5
&+ NP 15 5 0
B3P 13.43 6.57
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EW m¥x ma«(FC) a e EW mRE? #Rin(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
¥l z9zmx | NS | EW | 25z2% | NS | EW | #4 | #16 | #4 |#16| #a |#16 || Mean | Ns EW
1| N [None] 2DE3 110 3HN-3 150 | 40 1 EW70 | -1 2
2| E| NS 3HW-1 50 2HW3 140 | 190 5 EW40 | 3 3
3| s |EW 45S-2 100 3NS3 400 500 1 EW40 | -2 -10
4 | W |Both| 5CN5 600 3NN5 660 60 2 NS600 2
5| N | NS 4HE4 420 25W4 170 250 6 EW420 6
6 | E|EW| 2cxs4 100 2HE-1 100 200 5 EW30 | -2 -4
7 | s |Both| 6NN6 1440 4ss7 710 730 12 NS1640| -5 14
8 | W [None| 3Ns-2 100 3NS-2 100 EW30 | -2 2
9| N|EW 35S5 200 4ss4 420 220 6 NS430 | -6
10 | E |Both| 4SN4 620 4SS5 650 30 1 NS370 | 6 7
@3- IMP|18 | 31 9 | -8
B3 4 SHDC 16 prime
* B IMP 18 31
£+ NP 18 31 "
» HVP 5.72 14.28
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EW Hi® 2&5(P0) apie EW %33 mag(R0)
B# | DL | & #% ol 4 L ik REAA | COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #5 [ #12 | #5 [#12] #5 [#12 || Mean | Ns EW
1 N |None| 2CS2 20 2CW-2 100 10 EW70 4 -5
2 E NS 4HW-2 100 2DXS3 380 280 7 EW40 4 -9
3 S | EW 3SS3 140 4SS-3 150 290 7 EW40 5 3
4 W | Both 5SN5 650 5DS5 600 50 2 NS600 2
5 N NS 4HE5 450 3NE5 460 10 EW420 -1 1
6 E EW 2HE-1 100 4HW-2 200 100 3 EW30 4 -6
7 S [Both 6SS7 1460 7SS7 2210 750 13 NS1640 -5 -11
8 W |None 3NS3 400 3CN-1 50 450 10 EW30 10 1
9 N | EW 4SS5 450 4SS4 420 30 1 NS430 1
10 E |Both 4HE-3 300 3SN4 170 130 4 NS370 -2 5
@3t IMP|24 |23 22 | 21
2% ) Ji33 12 < 2 guto pay
* B IMP 24 23
&3+ INP 24 23 1
B VP 10.39 9.61
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1
R tyze% | NS | EW | 2¥zu% | NS | EW | #15 | #17 |[#15[#17[#15[#17 || Mean | Ns EW
1 N |None| 3DE4 130 3DE3 110 20 1 EW70 -2 1
2 E NS 4HW5 450 3HW-2 100 550 11 EW40 -9 -4
3 S | EW 4SS-3 150 4SS-1 50 100 3 EW40 -3
4 W | Both 3NN5 660 3NN5 660 NS600 2 -2
5 N NS 4HE4 420 4HE4 420 EW420
6 E EW 3NE3 600 2SXN-2 300 300 7 EW30 -11 7
7 S [Both 7SS7 2210 7SS7 2210 NS1640 1 -11
8 W |None 3NS-2 100 3NS3 400 500 11 EW30 -2 -10
9 N | EW 4SS5 450 4SS6 480 30 1 NS430 1 -2
10 E |Both 2SN4 170 4SXN4 790 620 12 NS370 -5 -9
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e 15 i3 f*u{all in 17 Z 3
* B IMP 46
£ INP 46 P
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B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #11 [ #20 [#11]#20[#11[#20 || Mean | Ns EW
1 N |None 3HN-2 100 4DE-1 50 150 4 EW70 -1 -3
2 E NS 2HW3 140 4HW-1 50 190 5 EW40 -3 -3
3 S | EW 3SS-1 50 4SS-1 50 EW40
4 W | Both 3NN5 660 6CN-1 100 760 13 NS600 2 12
5 N NS 4HE4 420 3NE4 430 10 EWA420
6 E EW 3CS-3 150 2CXS2 180 330 8 EW30 -3 -5
7 S |Both 6SS7 1460 7NS7 2220 760 13 NS1640 -5 -1
8 W |None 2SS2 110 3NS-2 100 210 5 EW30 4 2
9 N | EW 4S5S4 420 4SS5 450 30 1 NS430 -1
10 E |Both 3SN4 170 2SN4 170 NS370 -5 5
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* B IMP 18 31
£+ P 18 31 "
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B# | DL | & 2R WEE ES A%ERE A COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #7 | #18 | #7 [#18] #7 [#18 || Mean | Ns EW
1| N [None] 1NN-1 50 1NN-1 50 EW70 | 1 4
2| E| NS 2HW3 140 4HW-1 50 190 5 EW40 | -3 -3
3| s |EW 4SS-1 50 3NXS-3 500 | 450 10 EW40 10
4 | W |Both| 3NN5 660 5CN5 600 60 2 NS600 | 2
5| N | NS 3NE5 460 4HES5 450 10 EW420 | -1 1
6| E|EW 4HE-2 200 3CXS-1 100 | 300 7 EW30 | 6 2
7 | S |Both 7SS7 2210 6CS-1 100 | 2310 20 NS1640| 11 17
8 | W |[None| 3cN-1 50 5DN-3 150 | 100 3 EW30 | -1 3
9| N|EW 4SS5 450 4SN4 420 30 1 NS430 | 1
10 | E |Both| 4SXN4 790 4SXXN4 | 1080 290 7 NS370 | 9 12
@3- IMP|[43 |12 25 | 17
%3 7 Cyclops 18 B 5
* B IMP 43 12
&3+ INP 43 12 |
2 3VP 18.00 2.00
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B# | DL | & Yk MWEE E& 3 R% R A~ COP Datum
1
R txzex | NS | EW | 225 | NS | EW | #8 | #19 | #8 [#19] #8 [#19]|] Mean NS EW
1 N |None 1NN-1 50 P 50 2 EW70 1 -2
2 E NS 3HW-2 100 2HW3 140 240 6 EW40 4 3
3 S | EW 4SS-3 150 4SS-4 200 50 2 EW40 -3 4
4 W | Both 3NS5 660 3NN5 660 NS600 2 -2
5 N NS 4HE5 450 4HE4 420 30 1 EW420 -1
6 E EW 4HE4 620 2HE3 140 480 10 EW30 -11 3
7 S [Both 7NS7 2220 7SS7 2210 10 NS1640 11 -11
8 W |None 3NS-2 100 3CN-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 4SXS-1 200 4SXN4 790 990 14 NS370 -11 -9
@3 IMP| 8 |27 9 | -13
% 8 PRYA 19 C I
* B IMP 8 27
& - INP 8 27 19
- $-VP 4.25 15.75
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
¥l z9zmx [ NS | EW | 25z2% | NS | EW | #1 | #9 | #1 ] #9 | #1 | #9 || Mean | Ns EW
1 N |None 3DE3 110 3DE3 110 EW70 -1 1
2 E NS 3HW3 140 3CN-4 400 260 6 EW40 -3 8
3 S | EW 3SS3 140 3SS-2 100 240 6 EW40 5 2
4 W |Both 5DS5 600 3NN5 660 60 2 NS600 -2
5 N NS 4SW5 450 4HE4 420 30 1 EWA420 -1
6 E | EW 2SN-2 100 2HW2 110 10 EW30 -2 2
7 S |Both 4SS7 710 6SS7 1460 750 13 NS1640 -14 5
8 W |None| 3CN-1 50 3NS-2 100 50 2 EW30 -1 2
9 N | EW 4SS5 450 4SS4 420 30 1 NS430 1
10 E |Both 4SS-1 100 3SN4 170 270 7 NS370 -10 5
A3 IMP| 15 |23 26 | 23
BE 1 TE 9 ¥ %
* B IMP 15 23
£ 3 IMP 15 23 P
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1
R tyze% | NS | EW | 2¥zu% | NS | EW | #6 | #21 | #6 [#21] #6 [#21 || Mean | Ns EW
1 N |None P 3DwW4 130 130 4 EW70 2 2
2 E NS 3HW3 140 2HE3 140 EW40 -3 3
3 S | EW 4SS-2 100 4SS-3 150 50 2 EW40 -2 3
4 W | Both 3NN5 660 5DS5 600 60 2 NS600 2
5 N NS 3NE5 460 3NE3 400 60 2 EWA420 -1 -1
6 E EW 2HE3 140 2HE-1 100 240 6 EW30 -3 -4
7 S |Both 7SS7 2210 7SS7 2210 NS1640 1 -1
8 W |None 3DN-2 100 5DN-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 4SN4 620 4SXN4 790 170 5 NS370 6 -9
@3 IMP| 8 |13 1 | 16
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* B IMP 8 13
£+ P 8 13 5
- $-VP 8.15 11.85
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B# | DL | & #% ol 4 L ik REAA | COP Datum
1
i EHE S NS EW £z % NS EW | #10 | #22 |#10|#22|#10 |#22 Mean NS EW
1 N |None| Averag¢ Averagg¢ EW70
2 E | NS A Averagg¢ A Averagg¢ EW40
3 S | EW A Averagg A Averagg EW40
4 | W |Both A Averagg¢ A Averagg¢ NS600
5 N | NS A Averagg A Averagg EW420
6 E | EW A Averagg¢ A Averagg¢ EW30
7 S |Both A Averagg A Averagg NS1640
8 | W [None A Averagg¢ A Averagg¢ EW30
9 N | EW A Averagg A Averagg NS430
10 | E |Both A Averagg¢ A Averagg¢ NS370
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B 10 PHEAVEN 4 % 22 w3
* B IMP
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EW mz#g £¢%3(R0) a e EW z24# R2%E(FC)
B# | DL | £ % MEE M E ik REAA | COP Datum
R txzex | NS | EW | 25223 | NS | EW | #13 | #3 [#13] #3 [#13] #3 Mean NS EW
1 N |None 3DE3 110 P 110 3 EW70 -1 -2
2 E NS 3HW-1 50 3HW3 140 190 5 EW40 3 3
3 S | EW 2SS2 110 2SS2 110 EW40 4 -4
4 W |Both 5DS5 600 5CS5 600 NS600
5 N NS 4HE4 420 4HE4 420 EWA420
6 E | EW 4HW-1 100 3HW-1 100 EW30 4 -4
7 S |Both 6SS7 1460 6SS7 1460 NS1640 -5 5
8 W |None| 3NS-3 150 3CN-1 50 100 3 EW30 -3 1
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 4SXN4 790 2SN4 170 620 12 NS370 9 5
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
i £Hz2% | NS | EW | 2x4223% | NS | EW | #14 | #2 ([#14] #2 |#14] #2 Mean | NS EW
1 N |None 3HN-3 150 2DXE3 280 130 4 EW70 -2 5
2 E NS 5HW-2 100 4HW-2 100 EW40 4 -4
3 S | EW 4SS-1 50 3SS3 140 190 5 EW40 -5
4 W | Both 3NN5 660 3NN5 660 NS600 2 -2
5 N NS 3NE4 430 4HE5 450 20 1 EWA420 1
6 E EW 4HW-2 200 4HE-3 300 100 3 EW30 6 -8
7 S |Both 6SS7 1460 6SS7 1460 NS1640 -5 5
8 W |None 3NS-2 100 3NS-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 3DS-4 400 3DE3 110 290 7 NS370 -13 10
@3t P[5 |15 -9 3
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&3 INP 5 15 10
- $-VP 6.57 13.43
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B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
i t¥z2% | NS | EW | 2%3223% | NS | EW | #16 | #4 |[#16] #4 |#16] #4 || Mean | Ns EW
1 N |None 3HN-3 150 2DE3 110 40 1 EW70 -2 1
2 E NS 2HW3 140 3HW-1 50 190 5 EW40 -3 -3
3 S | EW 3NS3 400 4SS-2 100 500 1 EW40 10 2
4 W | Both 3NN5 660 5CN5 600 60 2 NS600 2
5 N NS 2SW4 170 4HE4 420 250 6 EWA420 6
6 E EW 2HE-1 100 2CXS-1 100 200 5 EW30 4 2
7 S |Both 4SS7 710 6NN6 1440 730 12 NS1640 -14 5
8 W |None 3NS-2 100 3NS-2 100 EW30 -2 2
9 N | EW 4S5S4 420 3SS5 200 220 6 NS430 6
10 E |Both 4SS5 650 4SN4 620 30 1 NS370 7 -6
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2 HVP 14.28 9.72
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #12 | #5 [#12] #5 [#12] #5 || Mean | Ns EW
1 N |None| 2CW-2 100 2CS2 90 10 EW70 5 -4
2 E NS 2DXS3 380 4HW-2 100 280 7 EW40 9 -4
3 S | EW 4SS-3 150 3SS3 140 290 7 EW40 -3 -5
4 W | Both 5DS5 600 5SN5 650 50 2 NS600 -2
5 N NS 3NE5 460 4HES5 450 10 EW420 -1 1
6 E EW 4HW-2 200 2HE-1 100 100 3 EW30 6 -4
7 S [Both 7SS7 2210 6SS7 1460 750 13 NS1640 11 5
8 W |None 3CN-1 50 3NS3 400 450 10 EW30 -1 -10
9 N | EW 4SS4 420 4SS5 450 30 1 NS430 -1
10 E |Both 3SN4 170 4HE-3 300 130 4 NS370 -5 2
@3t IMP|23 |24 21 | -22
BE 12 £ 4 guto pay 5 K
* B IMP 23 24
&3 INP 23 24 B
B VP 9.61 10.39
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R t¥z2% | NS | EW | 2x%3223% | NS | EW | #17 | #15 [#17[#15|#17[#15 || Mean | Ns EW
1 N |None| 3DE3 110 3DE4 130 20 1 EW70 -1 2
2 E NS 3HW-2 100 4HW5 450 550 11 EW40 4 9
3 S | EW 4SS-1 50 4SS-3 150 100 3 EW40 3
4 W | Both 3NN5 660 3NN5 660 NS600 2 -2
5 N NS 4HE4 420 4HE4 420 EW420
6 E EW 2SXN-2 300 3NE3 600 300 7 EW30 -7 11
7 S [Both 7SS7 2210 7SS7 2210 NS1640 1 -11
8 W |None 3NS3 400 3NS-2 100 500 11 EW30 10 2
9 N | EW 4SS6 480 4SS5 450 30 1 NS430 2 -1
10 E |Both 4SXN4 790 2SN4 170 620 12 NS370 9 5
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B# | DL | & #% MEE M E ik REAA | COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #20 [ #11 [#20]#11]#20[#11 || Mean | Ns EW
1 N [None 4DE-1 50 3HN-2 100 150 4 EW70 3 1
2 E | NS 4HW-1 50 2HW3 140 190 5 EW40 3 3
3| S |EW 4SS-1 50 38S-1 50 EW40
4 | W |Both 6CN-1 100 3NN5 660 760 13 NS600 -12 -2
5| N | NS 3NE4 430 4HE4 420 10 EW420
6 E | EW 2CXS2 180 3CS-3 150 330 8 EW30 5 3
7 | S |Both 7NS7 2220 6SS7 1460 760 13 NS1640| 11 5
8 | W [None 3NS-2 100 2SS2 110 210 5 EW30 -2 -4
9 N | EW 4SS5 450 4SS4 420 30 1 NS430 1
10 | E |Both 2SN4 170 3SN4 170 NS370 -5 5
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> B IMP 31 18
&3+ NP 31 18 ;
2 HVP 14.28 9.72
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EW #3434 #45(R0) a e EW %33 ##7(FO0
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
R tyze% | NS | EW | 2yzu% | NS | EW | #18 | #7 [#18] #7 [#18] #7 || Mean | Ns EW
1 N |None 1NN-1 50 1NN-1 50 EW70 1 -1
2 E NS 4HW-1 50 2HW3 140 190 5 EW40 3 3
3 S | EW 3NXS-3 500 4SS-1 50 450 10 EW40 -10
4 W | Both 5CN5 600 3NN5 660 60 2 NS600 -2
5 N NS 4HE5 450 3NE5 460 10 EW420 -1 1
6 E EW 3CXS-1 100 4HE-2 200 300 7 EW30 -2 -6
7 S [Both 6CS-1 100 7SS7 2210 2310 20 NS1640 -17 -11
8 W |None 5DN-3 150 3CN-1 50 100 3 EW30 -3 1
9 N | EW 4SN4 420 4SS5 450 30 1 NS430 -1
10 E |Both 4SXXN4 1080 4SXN4 790 290 7 NS370 12 -9
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EW i3 H#2(R0) apie EW #h+% m7 2(FC)
B# | DL | £ % MPE 2HE ES R% R A~ COP Datum
1
R tyze% | NS | EW | &yzu% | NS | EW | #19 | #8 [#19] #8 [#19] #8 || Mean | Ns EW
1 N |None P 1NN-1 50 50 2 EW70 2 -1
2 E NS 2HW3 140 3HW-2 100 240 6 EW40 -3 -4
3 S | EW 4SS-4 200 4SS-3 150 50 2 EW40 -4 3
4 W | Both 3NN5 660 3NS5 660 NS600 2 -2
5 N NS 4HE4 420 4HE5 450 30 1 EWA420 1
6 E EW 2HE3 140 4HE4 620 480 10 EW30 -3 11
7 S |Both 7SS7 2210 7NS7 2220 10 NS1640 1 -1
8 W |None 3CN-2 100 3NS-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 4SXN4 790 4SXS-1 200 990 14 NS370 9 11
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EW s ®i2k(R0) a e EW &4 3£ & #(F0)
B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
bl Hr%% | NS | EW | £x25% | NS | EW | #9 | #1 | #9 | #1 | #9 [ #1 Mean | NS EW
1 N |None| 3DE3 110 3DE3 110 EW70 -1 1
2 E NS 3CN-4 400 3HW3 140 260 6 EW40 -8 3
3 S | EW 3SS-2 100 3SS3 140 240 6 EW40 -2 -5
4 W | Both 3NN5 660 5DS5 600 60 2 NS600 2
5 N NS 4HE4 420 4SW5 450 30 1 EW420 1
6 E EW 2HW2 110 2SN-2 100 10 EW30 -2 2
7 S [Both 6SS7 1460 4SS7 710 750 13 NS1640 -5 14
8 W |None 3NS-2 100 3CN-1 50 50 2 EW30 -2 1
9 N | EW 4SS4 420 4SS5 450 30 1 NS430 -1
10 E |Both 3SN4 170 4SS-1 100 270 7 NS370 -5 10
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B# | DL | £ % MPE 2HE E& 3 R% R A~ COP Datum
1
¥l 29zmx | NS | EW | 25z2% | NS | EW | #21 | #6 |#21] #6 |#21] #6 || Mean | Ns EW
1 N |None| 3DW4 130 P 130 4 EW70 -2 -2
2 E NS 2HE3 140 3HW3 140 EW40 -3 3
3 S | EW 4SS-3 150 4SS-2 100 50 2 EW40 -3 2
4 W | Both 5DS5 600 3NN5 660 60 2 NS600 -2
5 N NS 3NE3 400 3NE5 460 60 2 EW420 1 1
6 E EW 2HE-1 100 2HE3 140 240 6 EW30 4 3
7 S [Both 7SS7 2210 7SS7 2210 NS1640 1 -11
8 W |None 5DN-2 100 3DN-2 100 EW30 -2 2
9 N | EW 4SS5 450 4SS5 450 NS430 1 -1
10 E |Both 4SXN4 790 4SN4 620 170 5 NS370 9 -6
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B% 21 S 6 fo s F g
* B IMP 13 8
&3+ INP 13 8 ]
B VP 11.85 8.15
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NS (FC) NS (R0)
ew w0 22 (Table 11 10 o,
B# DL |+ MEE M E ik REAA | COP Datum
EXE B NS | EW | 29223 NS | EW || #22 | #10 |#22|#10(#22|#10 || Mean NS EW
1 N [None EW70
2 | E| NS EW40
3|8 |EW EW40
4 | W |Both NS600
5| N| NS EW420
6 | E|EW EW30
7 | S |Both NS1640
8 W |None EW30
9 | N|EW NS430
10 | E |Both NS370
Bt IMP
i 22 % 10 PHEAVEN # %~
* B IMP
£ 3 IMP
2 3VP 10.00 10.00




